82 BETE 840 82 XEERES RT-08"
120 WHTE 600 120
35 530 35
79.5 45 3.2 523.6 45 79.5
4
FIBEIH S-UYT (A1)
TN BB 2
¥ 7 (Hg) FLB+ABLWG6.8 (31i2)
BB Bl &R > %R
T BERH t=16 L=72
= E 27 1 /0
& / ‘
Q0
=]C i
HE»28 (LTREFHLE) |
7 VI BE A \\\ﬁ
oQ
2 |
KR 86 |
RIEDH R IV b ‘ ) ]
i TN B
g |
N
~ ¢ BHERRY - X Bm |
\ t=1.6 i
KEERDN— A ‘
AASHIE
(an] " |
= KB B 1 _ X920 W=30 |
SN BT ,//// L-25130:50H i
L] Al z
: 5 ‘ BEnt vy
2| @] =~ -/
4mm7 2282 @300 d QE\ = TIVIFHIM
o E 1% ——
o DY = & BTSN (B2 t=2 EBY)
L
= —BAY W=100 ———— o \
5 SIS IR ° MRS
= 7O9-Fru S
& KITUN—
o } (WPON—IBE 3 EHCEREE)
8 o OPERPIN.. | / S| #7n
0 3
“© ! i / EHENFI (F1E)
,g % M- 2 (CRIEHIE)
mm”47444444444J/ £8 (%)
(93413
S—UY 7 (RR)
X 50 HEROTE 540
32 150 X FHEEOTE 640 150 32
y %\ \—ﬁm (RI%)
e (312) §< B (B)
>< FOI-r=3u7 9¢
4UF=94%- 1.8¢
i
{7 IR =F=n
Trek FHIRRAR 5 F2E- 9N ¥ SHG—60 i e A e = * =BISNIAUTSTYIRRER
B WHakmAAR A
2 w Tl n 2 ° my\lﬁ% A T T T @
5 = — — = iy EMERHS 2 - - - £
R| 9 = KBRS A . / .




62 BMEHE 840 62 25RES RT-081
120 WHETE 600 120
35 530 35
79.5 45 3.2 523.6 3D 45 79.5
85
ST 1) S=Uv7 ()
RNTINUR BFAERSS2
vmUv7 (R FL8+AB--WG6.8 (1)
Sﬂ@ﬁ«ﬁﬁﬂ/ﬁ S REmD o ?i@ﬁi
e @ SR
L |
[ve]
fit»28 (L FREZALE) |
703 B \\\ﬁ
(s @]
: |
KR 86 !
RiED R B ! 7%@%5 ,
‘ TIVI B
5 ‘
~ ¢ BIHEBRD- R |
\ \\ I t=1.6 i
KT - 0 7} ‘
AASHIE
o . !
= KSR 86 e = st on W=30
—_ Q) L—25x30x50W
1 L t=1,5 |
DAIES: A - Il \TEK © ‘ BEht vy
o ‘ ZIVI BT
= 4mm7 7262 @300 4 ,iiE% Bilen/S— (B2 t=2 ERY)
2 Y o
Lo _ L0 ™~ —
— Z Bk = TOI9-Fvy S
B 7IVIEEFEHM W=80 ~ REF7Vh—-
~ (7 DN 10BHE Y EHIBEEEE)
WP
8 O PERPIS B -
L0
© EHENI 0 (FE)
BAtE -2 (BIEEE) &
ﬁHJ()W?’;/ 6
(S34 7 b i)
S-UvT (RR) \\4444——7ﬁiﬁ(ﬂﬁ)
BikE (B12) 30 HEMOTE 540 30
32 150 EHEOTE 600 150 32
FOI-T-3v7 9¢
{VF=04%- 1.8¢
U
$ﬁ&bw9w«
- - . Jra— 1rE £ A 258 — i =
I%%H ﬁfﬂUFﬂEﬁﬂf%b]%’%W% SHG-60 WA - B ET%%A # EWTSHIAISTYIORIER
| WHHH B A - Soemmmenneeee e
w ] £ = % ”mwﬂi. IA o o T g
Rl T 2 - HHEENS2 N B —— f J x




52

— RRERE VY
TIIBEF

Bt oy
7B

52 WMETE 840
120 WhtE 600 120
35 530 35
79.5 45 32 523.6 3D 45 79.5
5
FUIBETM Y-y J (B8)
A e KRS 2
¥-Uu7 (H8) FLB+ABLWC.8 (7lid)
mEH
T IBEFAM ¢
L
o8]
—]© i
ft»28 (L TREFASE) |
F NI BETM
[ve]
@ |
KKK 86 !
REBH IV B ‘
- |
N
= B LR R ‘
t=1.6 i
KIRRAN— ‘
AASHIE
e KiER 86 7Ty 70 W=30 |
BEh B ‘
7V BYFH Lt£?§§OX5OW ‘
4mm7 2282 @300 —— <t
y-Uvg = |
= ~BAL) W=70 3%?} BIEH N — (W3t t=2 EB0)
© S
f@]
- 3
G f9) A - N
Q g PO Fry S
NI7IN—
- _ - (BT ON-CBE U EHCEREE)
S 7 S PERPLY: | /] 7
| (N A | /
-
L
«©
/ Bit-2 L—-30x30x3 £¥55
/ (TISFH - BIEIE)
C—100x50x20x2.3 (A#)

HARNATF 4/

\—ﬁﬂﬁ (3

< SR

572

%}

XEERES RT-081

(J34 i) #) ‘
ST (1)
] 50 ftEEOTE 540 50 i
27 | 25 100 BBEOTE 640 100 25/ 27
KGR /4 \\ ", |
. FOI-T-=207 9¢
TAI7IWNIW=T4 27 J
KELAUIR 1225 I
(112)
i
{72"\“{/'9*'\
- \_ . IR - # G £ B o — e — e
TEEH FIRRRL 54N 2E-INy F SHG—60 iR - ne crEE A . ! =BISHIUISTY RS
5 WhHelimE AT T T .
R w 2 f# P ki A o e ]
Rl — 5 AR5 AT I L /o




287

105

miFTE 840 52
120 WhTE 600
35 530 35
79.5 45 12 523.6 45 79.5

94

503 BEIM YUY T (H)

e care AR5 2

¥ 7 () FLB+ABHWG6.8 (B)

mEn Bt £ 7350 >

03 B =16 L

¢ 25 /0

148

ft»es (LTREEAEE)
7V BT

KR 8¢

RIEBH RIS

—h

EE
TIVIPEIM

4mm7 2282 @300 —

>-Uvg

ZBKY)

TVIFREH W=70

65

ZBKYYUa LU

Bt RBAD > R

Ny 2 W=30
L—25x30x50W
t=1,5

t=1.6

©
Lo

|
|
|
|
|
|
|
|
|
|
|
|
|
50

s A (Bt t=2 ERY)

2357

76.5

TOI-Fry S

100

MBX25HRIVE « Dw Yt o Fuyh

HAot+4 7 4/

(I3 4D hBPiE)

¥=Uv 7 (Bl#)

BRELRT UN-KIK
Bl gAY > R t=2.3

BELZT VN
SHEF/S - iR 1=3.2
J-F29)1-8x75

A (31&)

— RERE VY
TIIBBR

RSP
7V B

< R

i

Dl

EBES RT-081

HEROTE 540 50
105 AROTE 640 105 2| 23
. 7O9-5-v7 9¢
KRR — *E: AVF-04v- 1.8¢ L < e
;ﬂﬁi?mw 2497 N DERUAT N (XFERE)
e | EH (B2 | LR Y-tk (SHGR)
| LRZSN-TH (5472)
o
$X&Uw9'«
THH ABREE S R2E-2Ny F SHG—60 AT - 55 = =BISHIAISTY ORISR
BREELEELE
o o - S PG [
Rl 5 - 3 g - BBENS2 e s /S n




12 BTS840 12 YEEEES RT-081
120 WHTE 600 120
35 530 35
79.5 45 32 523.6 3p 45 79.5
%
7R BEIH 505 (%)
s e KBRS 2
¥ 7 (3) FLB+AB+WG6.8 (B2)
e B 2EEn > iR
SIS ¢ t:M} =72
25 /3D
£ |
Q
fE»eE (LTHERALE) |
7 VB \ ‘
[s@]
2 |
KR 86 ‘
fUED RV b ! REBRE VY
| FUABEIH
S ‘
(@]
~ ¢ BIEBRD > XK |
\ \ I t=1.6 |
° |
Kk i 0 4 |
AASHIE a«/t: 7> |
(@] " |
= KR 80 TTE = s oo W=30 |
—_— &, ng?xgowow ‘
e b /WEK 5 \ L— P A
(o4 d 9
= 4mm7 2 AEZ_ @300 =4 ﬁ? BIEN - (B3H t=2 ZY) ﬁﬁ
o Y-y —
- 273 0
- 72 Bt W=30 #‘E’ R S E A LD
e 9 o © . - R
— S g ) N 3 NIT7Uh- o
9 —HRGI A T N (87 70—k BfE R EfC BRRIE) Wl
2 N PN~ L = ﬂ =
LI 1 "7 N i
i J L
& Wit L-30x30x3 £ 40 2
(THER - BEBIE) ‘
e Ur p— Y \ h
(93495 N L—65x65x6 (B8)
S—yY 7 (3%)
/ \—ﬁm (Bl)
Bk (Bl8)
30 #EEOTE 540 30
32 ALC 100 WHEEOTE 600 ALC 100 32
\ FOI=5=3v7 9¢
{E 1oF=04v- 1.8¢6
S|
477?%/*9*/\
Ieh FIUREK S« h2E-20\y F SHG-60 AT - 5 A i = * =SBISNIAIISTYINRRER
B WHEk A
@ EN @ # - ]t N o o o g
Rl i BRI 57 R 1 ay




BSMETE - 840

XEERES RT-081

120 WhTE 600 120
35 530 35
79.5 45 3.2 523.6 3p 45 79.5
53
T3 BEH S-Uv5 ()
T KHERT S 2
y-Uv7 (Big) FLBLAG+WGH.8 (31i8)
ﬁ@%‘ﬁﬁﬁﬂ EI Rt L
= 2 = =
¢ N
& / ‘
0
= 1O i
Ht»28 (LTREFASE) |
SR T \\\ﬁ
[e @]
s |
KRR 86 !
DRI ‘ | BmEthe Y
i T I BRI
§ |
~ ¢ BHERAD- TR |
\ \\ [ ) t=1.6 |
KIRFTRAN— S g‘ |
AASHE a«/t: 7) |
O " |
= iR 86 T = s i 70 =30 |
i =y L¥2?§50x5ow i
¥ VR B B Nl //E% @ ‘ BEht vy
ey (BlR) i == & 2 ‘ 7 BHEM
o fﬁ{N' EilEn - (BFBME t=2 EgE0)
L o 00 [s'@)
A ° o ° lg) o o}
i | - -, 3
o ) \ = FO9-fry o o
L o P
} 1\ S — R9FUN- P
500 (BPIN-KBE U EHCERER) | 180
o EHELII (BR) -
£8 () #7hn-
Wit -2 (BB
50 #EEOTE 540 50
100 150 mkEOTE 640 >(><\ 150 100
/ >x\\\ \\——————fﬁiﬂ<ﬂﬁ) \
Kb (31%)
FOI-r-307 9¢
>< {VF-04¥- 1.80
oV,
$XND-9-«
o \_ . _ PrE— 1@ £ A £ g e —
e AURRAR 5 h2E-9/y 7 SHG-60 e AT : " AoBl =mrEUISTyoRcRel
3 WHLHEZER i
w1 1 E $§ - kAL A e e e ]
o I 5 - RSS2 A £ Y




foMTE - 840

XEERES RT-081

120 WHTE 600 120
35 530 35
79.5 45 3.2 523.6 45 79.5
B3
P VI BHM S5 (AR)
s (e BB 52
¥-U7 (H4) FLB+AB+WGH.8 (B)
B Bl AR > %
7V BERH ¢ t:«9 =72
25 /3D
L |
[ve]
=]O i
E»28 (LFREFASE) |
7 V2 BHEM \\\ﬁ
[s@]
2 |
KR 86 !
‘ TIVIBER
§ |
~ ¢ BIHEBRD- R |
\ \\ I t=1.6 i
KT - 0 7} ‘
AASHIE
= KSR 86 970 W=30
- L—25x30x50W !
g — _ |
) o = ! BEHt Yy
Y=Y (AR) 2 | 73 BERM
= C = AE%E§ Bien - (B =0 Eho)
fp} [ve}
i ° ° ° o © e °
2 .
Q o \ ot 7054y ° D
(@}
\ Nl Re7UN-
80 (WP Y EET EREE) 80
EDENII (BIR)
£5 (912) #PUH- 1=2.3
WL -2 (REBHE)
30 #EBOTE 540 30
100 | 150 WAEOTE 600 150 | 100
\\;ﬁtu<m@>
70939 9¢
{VF-04%- 1.8¢
@ﬁx"bw?»«
I%%H WEW@ﬁé{ﬁ]{my}W; SHG-60 WA - B ;.ﬁ%ﬁ B8 = ® EWTSHIAISTYIORIER
= WHEEEEE A - —
w ] £ = % - kA . IA o o T g
Rl B WMERHS N oo f J w




